07666 £EEH

7= a1 BA

BR:

BREATBEHBARFASZH, EFURRIENIZEAL. BRHIESEREN
B4

BEFRTZHME , SREEEEEaEREH. MG T 2815 , 8
EMerIRE® 4N,

NE

NEZRKBTERL , FlRFIRG6H, 1RF18456g , HER

+0.25 mmo,

FHBERSHES LIRERERBA R,
=N

- REMBEE,

-BYSHEE , BB THTZHRRD SHNTRIE.
-ERETRALREIERE  TEEHEIE,

07666-01 M5 M8 8 8 1 07660-05 07660-06
M6 M10X1,25 10 8 1 07660-08 07660-08X1
M8 M12X1,25 12 6 1 07660-10 07660-10X125
M8X1 M12X1,25 12 6 - 07660-12 07660-12X125
M10 M14X1,5 14 4 1
M10X1,25 M14X1,5 14 4 -
M12 M16X1,5 16 3 1
M12X1,25 M16X1,5 16 3 -

© norelem www.norelem.com



